
+ъпь1гъьгг0|-цъ

2о1{р:} 1}р:шр:ш:п[: т|:прф {1р:лтш2тшш:[: 6.{1ч1лтпт[пър[: тп!:т[ш:& т!2с:11пчр}п \Ё1:тпрп{: 11тшр}:р&}р}п }тш:|ш:р
т{пттппц:[п1 }:шп:ш1пър1пь&!л&р}:

(}ртптш2ш:тп}: 6.{|ч&п::[пъф ш:!т|ш:|л т|2тп\"чр1' 11ььтлрпф ч!:пьъ!&Ёр} }}тпт|тш\шрщт1'

#} 6.8т:!фш:1т1п:&

ортдфзв _ 2014рт[ 1 [ртптш2тшш:}: [.ф1:тшт[пьр}: ш:&:|тш! т{2.:я!1пцр} 11&&:дпп& пв*о}
(&т{тш&:шпш:р\:щ}:

ш}:2:шь9}:\\пцр

цшш:€Р9
цтпштп!1штрч:!тш1:

66&т{тш&път{р

$|*т{ц:|д &!л

ф&рц:этц
|+тцрчЁ

?:шфт!тп1:

ф:ц,1,рв

1{:тц Рг}
фъв

0лфтш:|}1лр
}ш:]шш}рц

/цптшт|/
€:ш0тпф

бтшптш1вър1пъ!'&'Ёр 200000
с*31*ж Ё:Ё&тптп-1&}пс}::д 8е1ла Бшатп 38 2шххю 5263

(!ф:п}пщ р!пчф :ч1}швр:рръ&&ф 9786ш

'?,вж;х!ж}
1}2тп\пъ3рш:1}1:

ф9п9взптт|ьф&1Фьф
:гзп}ш:\тп& ч:ф}п1: !л а:$:/

к{Ё [шшг 976600 \


